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Note : Question No. 1 is compulsory. Attempt any four
questions out of the remaining questions no. 2 to /.
Use of calculator is permitted.

1. (a) Select the correct answer from the given
alternative for each part given below :  7x1=7

X .

. e dy .
i Ky= o then —— is equal to :

dx
@ 5
© : (i{ ol

(D) None of these
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(i)

(1)

(iv)

V)

A particle is moving with a velocity

112 2 . .
V= Z(t +5) , its acceleration at any
instant ¢ is :
(A) t(t2 + 5)
(B) -t + 5)
(© t(t®-5)
(D) t(t + 5)

I %’Fdx is equal to :

7

4_
A ——x4 3¢
@ -2

4 =~
B) =x4 +¢
(B) -

4 7
© Zxi+c

(D) None of these

Jx

le
—=dx isequal to:
J.O\/; ed

(A) e-1 B) 2e-1)
€ 21-¢ (D) 1-e

3+ i3 isequal to:

(A) 1 B -1
©) 2 (D) ©



1 2
(vi) HA=[2 1],thenA2—31isequalto:

42 2 4
(A) [2 4] (B) [4 ‘2]

-4 2 2 4
(©) [2 —4] (D) [—4 2]

logsb 1

1 logya ,value of A is:

(vii) if A =

A) 1 B 2
© -1 (D) 0
(b) Fillin the blanks : 7x1=7

: _ st L
@) Ify=5,then I -

(id) 1’_% e* is equal to
(i) The function,

f:x—x3 and

g:x—8x+1,

for all xeR,

then function (fog) (x) is equal to

. oo e 1420
(iv) Simplify 13

(v) A square matrix is singular if
(vi) The median of 2, 4, 8, 9, 10, 12, 14 is
(vii) Mean deviation,

(MD)=%2fi‘xi .
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(b)

(©)

(b)

(b)
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Examine the continuity of f(x) at x=—1 4

x?-1 x#-1
flx)=1 x+1"’
=2, x=-1
. . a2 T
Differentiate the function x 1’ with 4

respect to x.

A particle is moving in a straight line 6
according to the equation ;

s=t3—9t2+ 3t +6, where s is measured in
metres .and t in seconds. Find the
acceleration when the velocity is
24m/s.

Evaluate : 2x7=14

I 3x+5
(x+1)(x-1)

Evaluate :

I tan! x. x%dx .

Evaluate : 2x7=14

x,
Acosa.cosecza de

b

Find the value of (1+i)¥®
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5. (a) Prove that, 2x7=14

(5 55
2 2

(b) Find Xand Y if.

woy 7 9] wy [30
Y=l 5T Tlo 3

cose  sing
6. (a) If A=[ , }, then verify that
—-sinax cosc 2x7=14

AT A = I, where 1 is a unit matrix of order
2x2.
(b) Show that (Without expanding)

a b ¢
? b 2 =abc(a—b)(b—c)(c—a)

7. (a) Find the median for the following

distribution : 2x7=14
Wages in Rs. No. of Workers
0-10 22
10 - 20 38
20 -30 46
30 - 40 35
40 - 50 20
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(b) Find the mean, mode, standard deviation
for the following :

Years No. of Persons
0-10 15

10 - 20 17

20 - 30 19

30 - 40 27

40 - 50 19

50 - 60 12

BET-021 6



